

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT, 390007 Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

WORK ORDER

SHIP TO:

WO No. 63

WO Date: 06/01/2024 NEPTUNE REALTY PVT. LTD.

Contractor Name URBAN JUNGGLE PVT LTD NEPTUNE OBELISK EXP

Address:

Contact No 9979251345 WO Title

PAN:

GST No: 24AAACN9837D1ZI Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST %	6
1	LOWER BASEMENT ANTI TERMITE						
	TREATMENT WORK						
	ANTI TERMITE TREATMENT (SQFT)	22,000.00	SQFT	1.90	41800.00	18	%
2	UPPER BASEMENT ANTI TERMITE TREATMENT WORK						
	ANTI TERMITE TREATMENT (SQFT)	22,000.00	SQFT	1.90	41800.00	18	%
3	GROUND FLOOR SHOP NO 01 ANTI TERMITE TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	3,074.50	SQFT	5.40	16602.30	18	%
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
4	GROUND FLOOR SHOP NO 02 ANTI TERMITE TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	3,074.50	SQFT	5.40	16602.30	18	%
Snc	Anti Tormita Trantment or new IC Standard						

Spc. Anti Termite Treatment as per IS Standard methodology at location shown. Rates

includes all tools, tackles, equipment's materials required to complete the job shall

be in scope of contractor.

Piping method

Bayer

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	the following contr	ract kindly e	execute the work			
5	GROUND FLOOR SHOP NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	729.74	SQFT	5.40	3940.60	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
6	GROUND FLOOR SHOP NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	729.74	SQFT	5.40	3940.60	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
7	1ST FLOOR SHOP NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	3,074.50	SQFT	5.40	16602.30	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall be in scope of contractor.						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
8	1ST FLOOR SHOP NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	3,074.50	SQFT	5.40	16602.30	18	%
Spc.	Anti Termite Treatment as per IS Standard						
-	methodology at location shown. Rates includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Bayer						

	have pleasure in placing with you our Work order for the the instruction given by our site incharge.	the following conti	act killaty c	xecute the work			
9	1ST FLOOR SHOP NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	665.17	SQFT	5.40	3591.92	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
10	1ST FLOOR SHOP NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	665.17	SQFT	5.40	3591.92	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
11	2ND FLOOR SHOP NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	3,074.50	SQFT	5.40	16602.30	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
12	2ND FLOOR SHOP NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	3,074.50	SQFT	5.40	16602.30	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for the the instruction given by our site incharge.	5	, -				
13	2ND FLOOR SHOP NO 03 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	665.17	SQFT	5.40	3591.92	18	9
Spc.		003.17	3Qi 1	3.40	3371.72		
opc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	· · · · · · · · · · · · · · · · · · ·						
	Bayer						
	Emida Cloprid						
14	2ND FLOOR SHOP NO 04 ANTI TERMITE						
	TREATMENT	//5 47	COET	5.40	3504.03	40	0.
Snc.	ANTI TERMITE TREATMENT (SQFT)	665.17	SQFT	5.40	3591.92	18	%
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
15	3RD FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT	4 454 7/	COET	F 40	(240.50	40	0/
<u> </u>	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
16	3RD FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall be in scope of contractor.						
	Piping method						
	Rayer						
	Bayer Emida Cloprid						
	Emida Ciopnia						

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	ine rottowing cont	ract Killuty e	vernie nie Mork			
17	3RD FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
18	3RD FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
19	3RD FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
_	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
20	3RD FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	-						
	Bayer						

	have pleasure in placing with you our Work order for er the instruction given by our site incharge.	and rotto ming come	accimiaty of	Accure the work			
21	3RD FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
22	3RD FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
23	4TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
24	4TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

ATH FLOOR OFFICE NO 03 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT	834.96	SQFT	5.40	4508.78	18	<u>%</u>
Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT	834.96	SQFT	5.40	4508.78	18	%
methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
Bayer Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
Emida Cloprid 4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
4TH FLOOR OFFICE NO 04 ANTI TERMITE TREATMENT						
TREATMENT						
ANTI TERMITE TREATMENT (SQFT)						
	834.96	SQFT	5.40	4508.78	18	%
Anti Termite Treatment as per IS Standard						
methodology at location shown. Rates						
includes all tools, tackles, equipment's						
materials required to complete the job shall						
be in scope of contractor.						
Piping method						
Bayer						
Emida Cloprid						
4TH FLOOR OFFICE NO 05 ANTI TERMITE						
TREATMENT						
ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
·						
be in scope of contractor.						
Piping method						
Bayer						
Emida Cloprid						
4TH FLOOR OFFICE NO 06 ANTI TERMITE						
TREATMENT						
ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Piping method						
Baver						
	Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 05 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 06 ANTI TERMITE TREATMENT	ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 05 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 06 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor.	ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 05 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 06 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes alt tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method	ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 05 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 06 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) ATTI TERMITE TREATMENT (SQFT) ATTI TERMITE TREATMENT (SQFT) ANTI Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method	Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 05 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor.	ANTI TERMITE TREATMENT (SQFT) 834.96 SQFT 5.40 4508.78 18 Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 05 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) 742.37 SQFT 5.40 4008.80 18 Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 06 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) 742.37 SQFT 5.40 4008.80 18 Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 4TH FLOOR OFFICE NO 06 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) 742.37 SQFT 5.40 4008.80 18 Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes alt tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method

	have pleasure in placing with you our Work order for the oper the instruction given by our site incharge.	the rottowing contr	det Killdty e	xecute the Work			
29	4TH FLOOR OFFICE NO 07 ANTI TERMITE TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
30	4TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
31	5TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
32	5TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	тине технический регистина						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
	Emida Coprid						

	have pleasure in placing with you our Work order for the the instruction given by our site incharge.	e retterring come	. accaty c	Accure the work			
33	5TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
34	5TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
35	5TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
36	5TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.	the following contr	act kindly e	xecute the work			
37	5TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
38	5TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
39	6TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment (SQFT) Anti Termite Treatment as per IS Standard	1,131.70	JQI I	3.40	0217.30	10	/0
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
40	6TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.							
	methodology at location shown. Rates includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Dayor						

	have pleasure in placing with you our Work order for t per the instruction given by our site incharge.		,				
41	6TH FLOOR OFFICE NO 03 ANTI TERMITE TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
42	6TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
43	6TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
44	6TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.							
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						

	have pleasure in placing with you our Work order for her the instruction given by our site incharge.	are rottowing conta	det illiaty e	Accuse the Work			
45	6TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
46	6TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
47	7TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
48	7TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	-y -						

	have pleasure in placing with you our Work order for the the instruction given by our site incharge.	and rotto ming come		Accuse the work			
49	7TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
50	7TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
51	7TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
52	7TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for her the instruction given by our site incharge.	the rottowing conti	det Killaty e	Accure the Work			
53	7TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
54	7TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
55	8TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
56	8TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	-y -						

	have pleasure in placing with you our Work order for t per the instruction given by our site incharge.	e retterring come		Accuse the Hork			
57	8TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
58	8TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
•	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
59	8TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
60	8TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for the oper the instruction given by our site incharge.	and rottowing contr	ace milaty ex	xeedee the work			
61	8TH FLOOR OFFICE NO 07 ANTI TERMITE TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
62	8TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
63	10TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
64	10TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	тине технический регистина						
	methodology at location shown. Rates includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	ine rottowing come	race milaty c	Accure the Work			
65	10TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
66	10TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
•	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
67	10TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
68	10TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all toots, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

69	10TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	-
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
70	10TH FLOOR OFFICE NO 08 ANTI TERMITE TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
71	11TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT	1 151 74	COET	5.40	6219.50	18	0
C	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5,40	0219.50	10	,
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
72	11TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	9
Spc.	Anti Termite Treatment as per IS Standard	1,131.70	3011	3.40	0217.30	10	
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						

	have pleasure in placing with you our Work order for t per the instruction given by our site incharge.	the following cont	ract kindly e	xecute the work			
73	11TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
74	11TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
75	11TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
76	11TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Rayer						
	Bayer						

77	11TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	9
Spc.	Anti Termite Treatment as per IS Standard	.,			2.222.22		
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
78	11TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT	1 001 00	COET	E 40	E40E 40	10	0
<u></u>	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
79	12TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	9
Spc.	Anti Termite Treatment as per IS Standard	,		·			
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
80	12TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Payor						
	Bayer						

	have pleasure in placing with you our Work order for t per the instruction given by our site incharge.	ine rottowing come	race milaty c	Accure the Work			
81	12TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
82	12TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
•	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
83	12TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
84	12TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.	the following conti	act killuty e.	xecute the work			
85	12TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
86	12TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
87	13TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
88	13TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	ine rottowing come	race milaty c	Accuse the Work			
89	13TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
90	13TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
•	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
91	13TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
92	13TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all toots, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	, •						
	Bayer						

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.	the following contr	act kindly e	xecute the work			
93	13TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
94	13TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
95	14TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
96	14TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Payer						
	Bayer						

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	ine rottowing come	race milaty c	Accuse the Work			
97	14TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
98	14TH FLOOR OFFICE NO 04 ANTI TERMITE						
70	TREATMENT						
		024.04	COET	F 40	4500.70	40	0/
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
99	14TH FLOOR OFFICE NO 05 ANTI TERMITE						
,,	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Paulos						
	Bayer						
400	Emida Cloprid						
100	14TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Payer						
	Bayer						

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	he following contr	act kindly e	xecute the work			
101	14TH FLOOR OFFICE NO 07 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		·			
	Piping method						
102	Bayer Emida Cloprid 14TH FLOOR OFFICE NO 08 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5,40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor.	,,,,,,,,,,			5.000.0		
	Piping method						
103	Bayer Emida Cloprid 15TH FLOOR OFFICE NO 01 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5,40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor.			·			
	Piping method						
104	Bayer Emida Cloprid 15TH FLOOR OFFICE NO 02 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor.						
	Piping method						

Bayer Emida Cloprid

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	are rottowing cont	race Killary e.	ACCULC LITE WOLK			
105	15TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
106	15TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
107	15TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT	742.37	COET	E 40	4008.80	10	0/
C	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4006.60	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
108	15TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT	7.42.27	COFT	F 40	4000.00	40	0/
<u></u>	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						

Bayer Emida Cloprid

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.	are rottowing corre	det illiaty e	Accuse the Work			
109	15TH FLOOR OFFICE NO 07 ANTI TERMITE TREATMENT	4 004 00	COFT	F 40	5.405.40	40	,
<u> </u>	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	,
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
110	15TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
111	16TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
112	16TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for t er the instruction given by our site incharge.	ine rollowing cont	act kindty e	xecute the work			
113	16TH FLOOR OFFICE NO 03 ANTI TERMITE TREATMENT	22.4.04					
.	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	,
Spc.	Anti Termite Treatment as per IS Standard methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
114	16TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT	02404	COFT	F 40	4500.70	40	
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
115	16TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard			-			
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
116	16TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						

	have pleasure in placing with you our Work order for the order the instruction given by our site incharge.	are rottowing conta	det illiaty e	Accuse the Work			
117	16TH FLOOR OFFICE NO 07 ANTI TERMITE TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
118	16TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
119	17TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
120	17TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's materials required to complete the job shall						
	be in scope of contractor.						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Claarid						

	have pleasure in placing with you our Work order for t per the instruction given by our site incharge.	e retterring come					
121	17TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	9
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
22	17TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
23	17TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
24	17TH FLOOR OFFICE NO 06 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Dayci						

Page 31 of 35

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.	the following conti	act Killuty e.	xecute the work			
125	17TH FLOOR OFFICE NO 07 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
126	17TH FLOOR OFFICE NO 08 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,001.00	SQFT	5.40	5405.40	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
127	18TH FLOOR OFFICE NO 01 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
128	18TH FLOOR OFFICE NO 02 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	1,151.76	SQFT	5.40	6219.50	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

	have pleasure in placing with you our Work order for t per the instruction given by our site incharge.	ine rottowing cont	ract killaty c	xecute the work			
129	18TH FLOOR OFFICE NO 03 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
130	18TH FLOOR OFFICE NO 04 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	834.96	SQFT	5.40	4508.78	18	%
Spc.	Anti Termite Treatment as per IS Standard						
•	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
131	18TH FLOOR OFFICE NO 05 ANTI TERMITE						
	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc.	Anti Termite Treatment as per IS Standard						
	methodology at location shown. Rates						
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						
	Emida Cloprid						
132	18TH FLOOR OFFICE NO 06 ANTI TERMITE						
132	TREATMENT						
	ANTI TERMITE TREATMENT (SQFT)	742.37	SQFT	5.40	4008.80	18	%
Spc		7 12.57	30, 1	3,10	1000.00		70
Spc.							
	methodology at location shown. Rates						_
	includes all tools, tackles, equipment's						
	materials required to complete the job shall						
	be in scope of contractor.						
	Piping method						
	Bayer						

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 133 18TH FLOOR OFFICE NO 07 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) 1,001.00 **SQFT** 5.40 5405.40 18 % Spc. Anti Termite Treatment as per IS Standard methodology at location shown. Rates includes all tools, tackles, equipment's materials required to complete the job shall be in scope of contractor. Piping method Bayer Emida Cloprid 134 18TH FLOOR OFFICE NO 08 ANTI TERMITE TREATMENT ANTI TERMITE TREATMENT (SQFT) **SQFT** 5.40 5405.40 18 % Spc. Anti Termite Treatment as per IS Standard

Anti Termite Treatment as per IS Standard methodology at location shown. Rates

includes all tools, tackles, equipment's

materials required to complete the job shall

be in scope of contractor.

Piping method

Bayer

Emida Cloprid

809737.24	Contract Amount (A)
145753.08	Total GST (B)
955490.32	Total (A + B)

Terms & Conditions

Other Conditions ALL the terms and condition as per your quotation Date: - 04/01/2024 .

Warranty Warranty: - 5 Years

Payment Payment Terms: - 100% after completion as per work.

Work Order Scope Treatment Procedure (DRILL FILLS AND SEAL)

- ? In internal perimeter 4"-6" deep holes of 12mm diameter will be drilled at 45 degrees at every wall and floor junction.
- ? In ground floor external perimeter and pillars will be drilled 1 feet @90 degree
- ? Each and every hole will be poured with two to three rounds of chemicals.
- ? After this all the holes will be sealed with chalk and white cement

Chemical to be used

- ? Imidacloprid (Premise) 30.5% Manufactured by Bayer Germany.
- ? This will be used in internal wall and floor junction. Chemical concentration will be 1 liter Water with 2.1 ml chemical.
- ? Chemical Concentration- 1 liter water with 2.1 ml chemical

General Conditions VALIDITY OF W.O 2.5 YEARS.

SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

- * All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- $^*\ Please\ submit\ your\ Bill/invoice\ along\ with\ delivery\ challan\ and\ PO\ copy\ in\ favour\ of\ Neptune\ Realty\ Pvt.\ Ltd.$

At project site office officialy.

- * Biling amount should not exceed the rate and total value mentioned in this WO.
- * Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE REALTY PVT. LTD.
Authorized Signatory